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SRS BEIRRE BR2PDE NAFRE B55 1 S R R BHNAEIES
1 |SREfT 209 | 35.1 | REEF 100.0|EEFf 111 |EER 10.0|FRes 100.0
2 |Efner 17.6 | R+ 241 |BRBRA 100.0| e 0.34|3Re5TH 4.6|8rE™H 100.0
3 |XREER 15.9 | =EFHT 19.5| RF0AT 100.0|8k @™ 0.23 |¥AAKTH 7| EaH 0.0
4 |B2EH 14.8| RS A 18.2 | Hde st 100.0|#AAT 0.19|8k T 1.9|#AART 0.0
5 |desARK 147 | BARF 15.3 | _EXART 100.0| R &FAF 0.00| K&+ 0.0(REBFEHR | rARREL
6 | BRHmET 14.2| 8 RET 14.7 | FIER 100.0| FFRBRF 0.00|8RBRA 0.0| B RBRF | BARELL
7 |BaEE AT 134EAT™ 14.5|#3)I11 T 100.0 | & F0fT 0.00| & F0AT 0.0| &A0H&T MAFEREL
8 |#AJIIET 13.1 (BT FE AT 13.8| /)1l 100.0 | 5844 0.00[5 4+ 0.0)5R4e4t MNARREL
9 %4 131 | = 13.8| S 100.0 | _E#ART 0.00| _E#ART 0.0 | E#AHT NARREL
10 |matAt 12.6|%4 133|854+ 100.0[ FEFR 0.00 | &+ 0.0| T mAFRGL
11 [/has 124 |FaREHT 12.7 |t EHET 100.0|#4) 117 0.00 |#2)11®T 0.0 [#2) 117 NAFREL
12 |tbEHAT 11.9)|EARH 12.7 R+ 100.0 = J1IAE 0.00| = JI1# 0.0 J1IAE MNAFREL
13 | JIIA 11.8|FE R 12.6| KT/ 100.0| LUz 0.00| L+ 0.0|LLFZAT NARREL
14 |8 11.6[8REH™ 11.8 | 3R3pifT 100.0| B BA 0.00(AEH 00|85+ MNARREL
15 |fSi=ET 115|847 EH 11.8| FEREHAT 100.0|;th AT 0.00 |t EHET 0.0|tb FRET MNARREL
16 |5RAeAt 11178 H 11.4|FW# 100.0 /&4 0.00| /&4t 0.0|&# MAFREL
17 | & 7xAT 1082+ 111 | KREH 100.0| XHAr/1 0.00| KK/ 0.0 XHrMH MNARREL
18 [EABHE 10.8| 8RB RA 10.9|#3)11%¢ 100.0 | 3m BT 0.00[#& s AT 0.0 | 33 AT NAFREL
19 [/Nr R 10.7[E=F0ET 10.5|#MAKTH 98.1 | FIREHHET 0.00| FRELHT 0.0| FEREHET | pARRAL
20 | EBF 10.2 BT 284 104|REH 93.1 | = WA 0.00| = *t 0.0|=F WAt MNAFREL
21 |E&EH 10.0) 54k 4 10.4| 1L/ NET 92.3| KEH 0.00 | KZE+F 0.0| X&EA NARREL
22 |BEH 9.8|/\GE™ 9.6[/N\EE™ 90.9 | #aJIIAF 0.00 |#3J11%¢F 0.0|#)114% MNARREL
23 |tkA™ 9.7 | EdmT 9.1|Fehm 909|EH™ 0.00| E&m™ 0.0|E%FmH NARREL
24 | KRR 9.5( 1L/ NHET 8I9|ERA 90.0( 1L/ HT 0.00[ 1L/ KT 0.0] 1L/ fT MNAFREL
25 | KET/H 94| 8™ 8.6 | = 7RAT 90.0|/h\g&TH 0.00[/hg&mH 0.0[/Ng&™ NARREL
26 |#A)IF 9.3| L#ART 8.3|HhE™H 89.2|FaimH 0.00[Fdam 0.0 F@h mAFRGL
27 | ™R 8.9 [fE X FHET 77|maH 88.9 | = F&RHAT 0.00 | & #&HfT 0.0| = ZxAT NARREL
28 |FEAHR 8.7 A 15|FEARKR 88.9| & 0.00|h & 0.0|$ 8 MARREL
29 |SF 8.6|FeH™ 7.5|FrIEa AT 87.5|MAT 0.00|@A ™ 0.0[fA&a ™ NAFREL
30 |1/PNET 8.5 ARHHT 7.3| AR 87.5|5AK 0.00| & A+ 0.0|B5AH MARREL
31 |BiR™ 8.3|Bkm 7.0|8R1LH 85.0 | FT BE AT 0.00 | P EE T 0.0 | Al g T NAFREL
32 |REFHET 7.9|#8)11B1 6.8|fRHE™ 84.6|BIRT 0.00|AKR™ 0.0|EK™ MAFREL
33 |EmAT 7.8|=)II%f 6.7+ 83.3 |8k LT 0.00 | 0.0[r 1L NAFREL
34 |mEmA 75| WAt 6.7 | REFET 83.0 k4t 0.00| 34t 0.0| %4+ MARREL
35 |fRE™ 72|18 6.6| = EH 81.8| REFET 0.00 [ =EFHT 0.0| =EpHET NAFREL
36 |8k 7.2 | = FRAT 5.9| E#mAr 81.8|=HA 0.00|EH# 0.0| =@+ MNARREL
37 | KR&EH 6.9|B8EH 5.8|# e 81.8| E T 0.00|Eémmr 0.0| ZEdmHT MNARREL
38 |fAAH 6.6 [ FRAEAT 5.6 |8 RET 80.0 [EXHIRHET 0.00 |82 RET 0.0|82FRAT | BARRSLL
39 P 6.6 | B AT 55|= L RHET 80.0|=EL RAT 0.00|=LRAr 0.0|=ELRAT |rAaRREL
40 [BREBRH 6.6| @A 5.3 | AN 77.8|mEHRAT 0.00|FgE#mAt 00|m#E#wmN | AARELL
41 |BRIERT 6.5|FHm 5.2| 8™ 77.8|¥%H ™ 0.00|¥%m™ 0.0(F%FmH NAFREL
42 |REHr 6.3[#AKT 5.1[FHBH 75.6 | FFBH 0.00|fF#BH 0.0|F#H MARREL
43 | FIRERAT 6.1/ F 47 EATH 75.0[{EATH 0.00|[fe A 0.0[4EA™ NAFREL
44 |fEHAEET 5.9 b EH AT 4.6 |+ 71.4| I+ 0.00 | par %5 #¢ 0.0 | pap 89 A% MAFREL
45 =@ 57| EEH™ 42|BARH 66.7 |BAKF 0.00|BAF 0.0|BAA NAFREL
46 | L¥amT 5.0|&E+ 37| KR EHT 66.7 | RS HT 0.00| K EHET 0.0 A< HHT MNARREL
47 |\N#EH 4.9| KA 3.7 | BRI AT 66.7 | SR AmAT 0.00 | A #RET 0.0 | SR A AT NAFREL
48 |ILRIAT 49|1ERHET 3.6 /N AT 66.7 [/NBAF 0.00| /N #F 0.0|/N&# MARREL
49 LRt 4.8 | S ET 3.4|8/ iR 64.5|8 /7R 0.00|Ea 4R 00|BariRM | BARELL
50 | 47| FRERET 3.2|EAEHET 55.6 [FEARHHT 0.00|FgAHHT 00|MmARBHET | AARELL
51 |7 R 4.6|F @R 3.1 [{E4X R ET 50.0 [fE1 X R ET 0.00 |1 X FHET 0.0\ HET | AARREL
52 | & FHIRET 46|= L RAT 2.8 | BRAERT 50.0 | &R 0.00 | wri&E+t 0.0 | &R MARREL
53 | RETEA 4.6 | R 2.6 {520 50.0 |12 /T 0.00 |15 28T 0.0|{5;2HT MNARREL
54 |#EET™ 39[F At 2.4 |H= 40.0|E= T 0.00| = 0.0| == MARREL
55 |FeA™ 34| KREH 2.0| AR+ 0.0|A+A4F 0.00 | R+ 0.0| RtEA NAFREL
56 |#AAKT 3.0|#a)11#f 1.4 EmHt 0.0| E&+t 0.00| E&+t 0.0| E& 4t MARREL
57 |M&a® 27| KEH 0.0| KEEAT ERBREL| KB 0.00|XKEFH ERBREL| KB MNARREL
58 |FFm 2.6 | &R 0.0| &R +F 2 N ST 0.00 | &34t 2 N 3T MhARREL
59 | K% 2.4 |8k ST 0.0| 8k &fT ERBRLL| R ERT 0.00 |8k SHT ERBRLL| R ERT NARREL
60 [/N\gHT 24| REER 0.0|XBert EEBRuL| RER 0.00|xzE+ ERREL|KEER MAFREL
61 |EEHEAH 1.3 BARA 0.0[AbAEAR =EBRaL| LA 0.00|dbAEAK EREREL AR | pARREL
62 |JIl £+ 0.8 |mgteAt 0.0| %t EREBRLL| SR 0.00 | F%#t EREBRLL| SR BhRRLEL
63 |ELRHAT N BT 0.0|/Nfr M HT ERBREL/NL BT 0.00 /N FEET sREReL/NAEET | BARREL
64 |EH AR 0.0|F &4t ERERLGL| FEAK 0.00 | &+ ERERLGL| FEAK BhRRLEL
65 |BAH - ST RHET 0.0 | L &IAT =Rl I RET 0.00| 3z ®IET =L I RET MAFEREL
66 | KEH - N T 0.0|/NgHT =ERaL|/NERT 0.00|/INfzHT =RRaL|/NERT MARREL
67 |&Eixt - EE AR ARH 0.0|maEAR ERREL| BN 0.00| AR ERREL|EEAR | PARREL
68 |3RIET KN EAT 0.0 JIIEAF 2L A 0.00JII E#F 2L A MNAFREL
EHE b4 |[EEFIE 8.2 |[REFE 830 |R#FE 0.05|REE 06|RHE 40.0
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